<0,59m

0.0

!

0,53-0,63m

Description MA ltem number | QTY
670x670x15 mm 8002990 1
@50x1100 mm 8002992 1
620x160x200 mm 14100004 2
200x60x3 mm 14100006 1
Clamp 52 mm 261841 4
MVBF M6x30 mm 304553 3
Cap 6 @6,5x21 mm ?206015890501) 3
@10,5x28x3 mm s | 8
M6M A2 M6 mm 324101 3
Cover M6, @15x10mm ?2060158905% 3
M10x90 302220 4
M6M-8 FZB M10 8008796 4
FZB @6,4x14x1,5 mm 326016 3




NR. |Description MA Item Number | QTY
1 |670x670x15 mm 8002990 1
2 |Cover M6, @15x10mm 0w | 3
3 |MVBF M6x30 mm 304553 3
4 |M10x90 302220 4
5 [200x60x3 mm 14100006 | 1
6 |Clamp 52 mm 261841 4
7 |620x160x200 mm 14100004 | 2
8 |FZB @6,4x14x1,5 mm 326016 3
9 |210,5x28x3 mm e 8
10 |Cap 6 @6,5x21 mm ?206015890501) 3
11 |M6M-8 FZB M10 8008796 4
12 |M6M A2 M6 mm 324101 3
13 |@50x1100 mm 8002992 1




	Sheet1
	Drawing View6
	Drawing View22
	Drawing View25
	Drawing View38

	Sheet2
	Drawing View30
	Detail View A (1 : 6)
	Detail View Q (1 : 3)
	Detail View M (1 : 2)


